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1 |BRFT EE-:| 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 1.5 |< 0.08 [# 0.06 0.005 ENGINAPNIS; 1
2 | HIFET BESE 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 1.0 [(# 0.19 (# 0.05 0.005 ENIBPNIAS; 2
3 |REEFTH YNz 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.11 |< 0.08 [< 0.02 0.005 196.5| 1| KB 3
4 |AEIUAT IS 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 2.1 |# 0.17 |(# 0.08 0.005 6| 1| KPRIFF 4
5 |H&EH = 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 1.3 |< 0.08 [< 0.02 0.005 2| 1| KPRIF 5
6 |SRAET NZHT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.75 |# 0.21 |(# 0.10 0.005 24| 1 KBEF 6
7 |\mAaT Ny 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 1.0 |# 0.14 |[# 0.06 0.005 3~5| 1| KFRIFF 7
8 |FiRT 2 LT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.19 |< 0.08 [< 0.02 0.005 5| 1| KPRIFF 8
9 |MNEEFH M 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |# 0.10 [< 0.02 0.005 1.5~2| 1| KFRIFF 9
10 fTNERT KA 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 1.7 |# 0.10 [< 0.02 0.005 F91.5[ 1| KBF 10
11 | RBgel KB 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.84 |< 0.08 [# 0.05 0.005 3~4| 1| KFRIFF 11
12 | RBRgeLTH 4Bk 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 7.2 |# 0.11 |[# 0.04 0.005 6| 1| KB 12
13 |'& HARTT P 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |# 0.12 [# 0.04 0.005 #9200( 1| KB FF 13
14 |l T KLy 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 2.9 |# 0.09 [# 0.03 0.005 #I3~5| 1| KPR 14
15 [A8J5rT s 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |# 0.12 (# 0.03 0.005 100( 1 [ KBEIF 15
16 |FEHESETT JiAe 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | # 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0008 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |# 0.12 (# 0.03 0.005 148| 1 [ KB 16
17 | PO fams T JeHHimy 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 5.0 |# 0.27 [# 0.05 0.005 3| 1| KB 17
18 |sFO PER T 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.90 |# 0.23 |[# 0.22 0.005 #930| 1| KB 18
19 | &RFFTHT piiige:s 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |< 0.08 [# 0.02 0.005 10| 1| KB 19
20 |Hh T RZMT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 1.2 |# 0.21 (# 0.04 0.005 5| 1| KPRIFF 20
21 (3t L LA 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.16 |# 0.41 |(# 0.02 0.005 8| 1| KPRIFF 21
22 |HEZAHT R+ 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.09 |# 0.25 [< 0.02 0.005 6| 1| KPRIF 22
23 |HEZAHT fre g 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.40 |# 0.62 [< 0.02 0.005 50| 1| KB 23
24 | KB 75 (X AL T 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 2.0 |# 0.21 [# 0.06 0.005 3| 1 KB 24
25 | KB HEIX 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |# 0.32 [# 0.29 0.005 357| 1| KB 25
26 | KB 0 i XD f AN 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |< 0.08 [# 0.02 0.005 | 150~250( 1| KPR 26
27 | KB SRARIX E 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | # 0.0004 0.0004 0.002 0.027 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [< 0.08 (# 0.11 [# 0.26 0.005 ENIMPN 27
28 | KB EHREE 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | # 0.0010 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 1.8 |# 0.23 [# 0.09 0.005 50( 1| KPR 28
29 | ¥ BRX A T 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 1.0 (< 0.08 [# 0.07 0.005 ENINAE S 29
30 | X VR 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 4.4 (< 0.08 [# 0.07 0.005 ENINAE S 30
31 |BRH 5 X T i R AT g 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 8.1 |# 0.13 [# 0.05 0.005 3| 1 (¥ 31
32 | ¥l VX EES 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 0.89 (# 0.10 [# 0.04 0.005 ENINAE S 32
33 | ¥l R X KESF 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 1.1 |< 0.08 [< 0.02 0.005 ENINAE S 33
34 R X gk %35 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.25 |< 0.08 [< 0.02 0.005 NI RAE 34
35 (BT AL X E & SR 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 2.5 |# 0.13 [# 0.06 0.005 3| 1 (¥ 35
36 | Pl BRXERERT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 4.1 |(# 0.10 [# 0.03 0.005 ENINAE S 36
37 |EEFETT AL BT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 1.8 [# 0.22 [< 0.02 0.005 A L|FERfmTT | 37
38 |EEAIHTT [if] (LT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 2.1 |# 0.23 [# 0.07 0.005 8| 1|Ffm | 38
39 |EEFIHTT FEAHT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 3.2 |(# 0.12 [# 0.04 0.005 A LFEFfmTT | 39
40 BT HrH 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 3.9 (< 0.08 [# 0.03 0.005 ENIRAE- i 40
41 | & HEALET 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 3.0 |(# 0.12 (# 0.04 0.005 ENI DR L 41
42 | & AEBFHT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 4.2 |< 0.08 [< 0.02 0.005 10( 1| & 42
43 | & [it] - o>mT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 [# 5.0 (< 0.08 [# 0.02 0.005 ENI B R L 43
44 | & [if] BT 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |< 0.08 [< 0.02 0.005 10( 1| & 44
45 BT =il 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.08 |# 0.17 |[# 0.20 0.005 252 1 [EHr 45
46 WK T 1L 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.53 |< 0.08 [< 0.02 0.005 200( 1 (kT 46
47 |WRHTT TH AR 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (# 0.6 |< 0.08 [< 0.02 0.005 200( 1 (kT 47
48 |k T IR 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |< 0.08 [# 0.07 0.005 200( 1 (kT 48
49 Wk T LIl 0.0003 N.D. 0.005 0.02 0.005 0.0005 — N.D. 0.002 0.0002 | < 0.0002 0.0004 0.002 0.004 [< 0.0005|< 0.0006 0.001 0.0005 0.0002 0.0006 0.0003 0.002 0.001 0.002 (< 0.08 |# 0.19 [(# 0.02 0.005 200( 1 (kT 49




FRI0FEM T KEREHZRBURAEA-)VIAX) (FFEHIE)

T 7E Hb & £ ¥ fE (mg/L) T OFE T
7 1 1 fi"d
=H 1 1 1 ) ) > 1 L4
= . 1 9 1 1 k - 3 L 1
- v Xz % | . . J 5 v = . .
. b ~ A % g 17 , , 1 2 % , + \ % 4 7 e
B _ . > v P 3 P 3 . ~ 7 =
§ i) N 5 fli “® P n o |~Hr| v e 7 \ | n 7 - 7 i ~ i ¥ 3 5 3 | i3 e
] - v " it * 1 s 7 7 . . = 4 7 ~ . v " > ; Ea
% 1E I > #h 4 = X L c = |t 2 - - k| vb = o ’ 7 7 v e v [6) 5 D ~ b o =
o H % : " b gl B A 1% E~| = ) ) = : 7 . > i ES #* # m ! o
k=2 v 7K o — =4 o - =4 N v v " = S =
2 2 w 4 # =gl = o o v 7 | 7 > ok v f ¥ e
’ N L4 - = = [ - i 4
e ¥ v . v = N
T P =] = bg T . ks v
: |2 1% N ~ o
el - v v - - v =
= v v F
50 W S5 FRT < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [< 0.08 |# 0.28 [# 0.22 0.005 107| 1|k @i | 50
51 |WRH T Eiy < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [# 0.53 |< 0.08 [# 0.05 0.005 7| 1| | 51
52 (WK H T NEIE= ) < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002[< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001|< 0.002 [# 1.8 |# 0.08 [# 0.04 0.005 21|k | 52
53 |WRH T A Y < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001|< 0.002 [# 7.5 |< 0.08 [# 0.05 0.005 5.5|1|mmi | 53
54 [T (LI < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [# 0.94 |< 0.08 [# 0.02 0.005 3| | | 54
55 (W et < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002[< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001|< 0.002 [# 1.7 |< 0.08 |# 0.03 0.005 6| 1|wmEd |55
56 | T ZHT < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [< 0.08 |# 0.10 [# 0.06 0.005 150| 1|t | 56
57 |t AT < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [< 0.08 |[< 0.08 [< 0.02 0.005 o|1|@mmit | 57
58 |l BT < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 < 0.08 |# 0.12 [# 0.03 0.005 160| 1| st | 58
59 |KcH7il g < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [# 0.97 |< 0.08 [< 0.02 0.005 4| 1lkemt | 59
60 [t 1 < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002[< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006| 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [< 0.08 |[< 0.08 [< 0.02 0.005 197| 1|7 | 60
61 |KH7 il # H iy < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [# 0.21 |# 0.16 [# 0.06 0.005 7|1|#cHH | 6L
62 [KATH TR < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [< 0.08 |[< 0.08 [< 0.02 0.005 200[ 1|#AT | 62
63 |ZATH pidE| < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [# 0.09 |# 0.11 |[# 0.07 0.005 150( 1|#AT | 63
64 |HATH T f < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002[< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001|< 0.002 [# 0.96 |# 0.38 [< 0.02 0.005 30| 1|FATH | 64
65 [\ IS < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [< 0.08 |# 0.13 [# 0.04 0.005 80| L|/\RHi | 65
66 [\ 2T [LIAHET < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [# 3.1 |# 0.14 [# 0.04 0.005 20| 1|\ | 66
67 [\ Z2i < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002[< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [< 0.08 |# 0.09 [< 0.02 0.005 100 L[ )\Rii | 67
68 |[ER)IM  HEALAT < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [# 2.5 |< 0.08 [# 0.02 0.005 68| 1|91l | 68
69 [ER)ITT  ERME < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - N.D. |< 0.002 |< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001 [< 0.0005|< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001 |< 0.002 [# 0.54 |< 0.08 [# 0.02 0.005 200| 1|11 | 69
70 RO FEW < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - — |< 0.002 [< 0.0002|< 0.0002[< 0.0004|< 0.002 < 0.004 |< 0.0005|< 0.0006|< 0.001 |< 0.0005[< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001|< 0.002 |< 0.08 [# 0.38 |# 0.13 0.005 80| 1| KB | 70
71| BB KR < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - — |< 0.002 [< 0.0002|< 0.0002(< 0.0004|< 0.002 < 0.004 |< 0.0005|< 0.0006|< 0.001 |< 0.0005[< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001|< 0.002 |# 3.1 [# 0.19 |# 0.09 0.005 3| 1|sKBE | 71
72 [HOKBRH EAICET < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - — |< 0.002 [< 0.0002|< 0.0002[< 0.0004|< 0.002 [< 0.004 |< 0.0005|< 0.0006|< 0.001|< 0.0005[< 0.0002|< 0.0006|< 0.0003|< 0.002 < 0.001|< 0.002 |# 4.4 [# 0.22 |# 0.05 0.005 5| 1| KB | 72
73 [T FEAIET < 0.0003 N.D. |< 0.005|< 0.02 [< 0.005|< 0.0005 - < 0.002 [< 0.0002|< 0.0002|< 0.0004[< 0.002 |< 0.004 [< 0.0005|< 0.0006|< 0.001|< 0.0005|< 0.0002|< 0.0006|< 0.0003[< 0.002 |< 0.001 [< 0.002 |< 0.08 |# 0.24 |< 0.02 0.005 200| 1|HoRkK | 73

GEDTM-HFBEET, IND. TS FREREELL, £ 721%0.1mg/L, 7 /L3 IL7KERIE0.0005mg/L, PCBIX0.0005mg/LTY,
CE2)T#IFEHLELA . REREBBEUTTL =, MIFREREBEFEA TRELEL . 46, A R O EMFERIETHETTVET,

GES) 7ILFILKERIE. RAIEL THRKEMSBRESINZIHEE (RE TIRIE0.0005mg/L)BIEEITILEELTLET,

GF4) FR29FE4R18ML, TBEEEZILE/I— IO TKREEZEORZEEXM/OOTFLY (BIAEBEEZ L XIFELEZILE/T—) IICEEShFEL




